1.1 Desk Station IV Features

The Toshiba Desk Station IV is connected to portable personal computers to expand their
interface capability through the use of expansion cards and industry standard 5 1/4" devices
installed in the Desk Station IV’s expansion bay.

The Desk Station 1V contains a 16-bit bus to access both half-length or full-length 8-bit cards
and full-length 16-bit cards. The Desk Station 1V has the following ports:

O QOepardld port

0 Oeexterna 51/4" port
[0 Ohe R@Bport

O QOeserid port

0 nePY 2nouse port
0 nePS 2keyboardport

TOSHIBA ‘

Figure 1-1 The Desk Sation 1V

1-1



1.2 System Unit Block Diagram

Figure 1-2 is a block diagram of the Desk Station 1V

115 Vac/220-240Vac

Parallel Port

To: Host Computer
PS/2 Ext. Keyboard port
PS/2 Mouse port

RGB Port

Serial Port

Interface 2 Board

|

5-1/4-inch Expansion BAY (Option)
(for 5” Int. FDD. CD ROM Disk.)

Interface Board

m _I_ ...... b m
mh.. _ _ ."uu_luln.
+
9 Q
oD
25
T L] m
£ 83 2 [ ] [ ] o2
> > > 8 H H w3
- a b 38 ) ' Jm
a Tt = ] '
s 2 po==-- eboqemmeee- 2 I el b il it 1
773 . a ) I I I :
a ' [ ] - '
a x b < '
5 ] t On<T 11 o9 T '
] P g®s Vg% § :
o o @ H va [ v B !
| 238 il 3358 |
m oY ! m Qo m
lllllllllllllllllll 1 T e L L L

b i e e gV U S N |

Figure 1-2 System Unit Block Diagram

1-2



1.3

Interface Board Block Diagram

Figure 1-3 is a block diagram of the interface board (PCB FDPSY 1).

(150 pins)

Interface connector

2'2K¥ ELA23~ELA17
—~W— —

LA23~LA1 7 E ' i

22k} ESA19-ESAQD
—W— 2

4.7K
saio-sho | s ]] 1o} e 22¢} ESD07-E5D00
5 DAL 3
[}
SDO7~SDoo ’ m ¥2§§01 §~ESDO8
so1s~snos K Ll T
— | . H B
MEROMEWR, T4.7K ==
IORDIOWR L

>

SMER/SMEW] o\

4 —Uﬁ—‘:—ﬁ

L

%
TCAOCLK @F
-
mL
-

(100 pins)

Figure 1-3 Interface Board Block Diagram

292
DACK® ¥‘°"
o |1 D (4 pins)
—
L] (7 pins)
62007 [ ]
HC240 PRT (25 pins D-sub)
FDD signals FDD (25 pins D-sub)
Ext. FDD (34 pins)
RS$232 signais ]
K— L f
RGB signals |
K.
1 | conzping
KB signals l PCB
e —
Mouse signals I
1




The major components of the interface board are as follows:

0 Gcillator: GBC(x1)
14. 31818 Mz
0 Gtearay
Expansi onbus control | er gatearray: BEXP. BISANT- GA( 100- pi n)

Thegat earray nanages bus control | i ngoper at i ons bet weent he syst enandt he
expansi onsl at's, andit contra stheprinter port of thebDeskS ati onl V.

0 Gxfigurationswtch

TheDesk S ati onl Vhasoneconfigurati onswtchl ocatedontheDeskS ati on
|V sback.

Bydefaul t, theswtchisset toon. |If youusetheDeskS ati onl Vwththe
T33009., T4500seri esor T4600seri es, set theswtchtooff.

O Junpers

TheDesk S ationl Vhast hreej unper s| ocat ednear t he back edge of t hesyst em
boerd

SettingPI13

If51/4" i nternal HCDsupports: Junper setting

Mbde/ Censi ty sel ect PI13Short

No Mbde/ Densi ty sel ect PJ13 Qpen

Setti ngPI1land PI12

Divetype: S gnal nane | Junper setting

1.2MB D skchange | PI11Short
RJ12 1-2Sort

360 KB Ready PJ11 Qpen
RJ12 2-30rt

1-4



1.4 Power Supply

1. ACinput
Voltage:
Current:

2. DC output

Constant voltage for operation:
Constant current for operation:

115/220 to 240 V
2.8/1.8 A

21V 1.9 A (max.)
19A

1-5



1.5 Expansion Slots

The Desk Station IV has two IBM AT-compatible dots and one industry-standard 5 1/4"

drive bay.

1.5.1 Physical Dimensions

(1) Expansion slots

Maxi numsi ze of AT (or XT) card

Frada:
Secondsl ot :

(2) 51/4" expansion bay

25, 4x339x122 nm( 1. 0"x13. 3'x4. 8")
20. 3x339x122 (. 8"'x13. 3'x4. 8")

Mixi nundevi cesi zei s 43x208x150 nm( 1. 7" x8. 2" x5. 9").

1.5.2 Maximum Power Capacity

Table 1-1 summarizes the power available to the expansion slots and the 5 1/4" drive bay:

Table 1-1 Desk Station 1V Power Supply Capabilities

Volts DC Continuous Amps Peak Amps
+5 (+5%/-5%) 7.5 8.0
-5 (+10%/-10%) 0.4
+12 (+5%/-5%) 2.9 5.9
—12 (+10%/—10%) 0.6

1.5.3 Unsupported Signals

The Desk Station |V supplies all the signals required by most expansion cards. In rare cases,
an expansion card may need a signal not supported by the Desk Station IV. Table 1-2 lists

unsupported signals:

Table 1-2 Unsupported Expansion Sot Sgnals
Signal Pin Number Description
0WS B08 0 wait state
DRQO D09 DMA ReQuest channel 0
DRQ7 D15 DMA ReQuest channel 7
—DACKO D08 DMA ACKnowledge channel 0
—DACK7 D14 DMA ACKnowledge channel 7
IRQ15 D06 Interrupt ReQuest level 15

The signals and pin assignments for IBM PC compatible expansion slots areillustrated in
Subsection 1.5.4 titled “Pin Assignments.”

1-6




1.5.4 Pin Assighments

The expansion slot isillustrated in Figure 1-4, and pin assignments are listed in Table 1-3.

BO1 AO1
BO2 A02
BO3 A03
BO4 A04
BOS A0S
BO6 A0S
BO7 A07
Bo8 A08
BO9 A09
B10 A10
B11 A1
B12 A12
B13 A13
Bi4 A4
B15 A15
B16 A16
B17 A17
B18 A18
B19 A19
B20 A20
B21 A21
B22 A22
B23 A23
B24 A24
B25 A25
B26 A26
B27 A27
B28 A28
B29 A29
B30 A30
831 A31
0RO
Do1 T1 co1
D02 1 co02
Do3 1] co3
D04 T3] co4
DoS T cos
D06 fim} Cco6
Do7 ] co7
Do8 T co8
D09 1| Cco9
D10 T Cc10
D11 T c11
D12 1] c12
D13 1] Cc13
D14 s Ci14
D15 1. c15
D16 T C16
D17 ] c17
D18 T ci8
gYa

Figure 1-4 Expansion Connector



Table 1-3 Pin Assignments

Pin Number | Signal Name /0 Pin Number | Signal Name /0
Al —IOCHCK I B1 GND -
A2 SDO07 I/O B2 RESET O
A3 SDO06 I/O B3 +5VDC -
Ad SDO05 I/O B4 IRQ9 I
A5 SD04 I/O B5 -5VDC -
A6 SDO03 11O B6 DRQ2 I
A7 SD02 I/O B7 -12 vDC -
A8 SDO1 I/O B8 (OWS) I
A9 SDO00 I/0 B9 +12 VDC -
A10 —IOCHRDY I B10 GND -
All AEN O B11 —SMEMW O
Al12 SA19 I/O B12 —SMEMR O
Al13 SA18 I/O B13 —IOW I/0
Al4 SA17 I/O B14 —IOR I/0
A15 SA16 I/O B15 —-DACK3 O
Al6 SA15 I/O B16 DRQ3 I
Al7 SAl4 I/O B17 —-DACK1 O
A18 SA13 I/O B18 DRQ1 I
A19 SA12 I/O B19 REFRESH I/O
A20 SAl1 I/O B20 SYSCLK O
A21 SA10 I/O B21 IRQ7 I
A22 SA09 I/0 B22 IRQ6 I
A23 SA08 I/O B23 IRQ5 I
A24 SAQ07 I/0 B24 IRQ4 I
A25 SA06 I/0 B25 IRQ3 I
A26 SAO05 I/O B26 —DACK2 O
A27 SA04 I/0 B27 T/IC O
A28 SAO03 I/0 B28 BALE O
A29 SA02 I/O B29 +5VDC -
A30 SA01 I/0 B30 oscC O
A3l SA00 I/O B31 GND —
C1 SBHE I/O D1 -MEMCS16 I
C2 LA23 I/0 D2 —10CS16 I
C3 LA22 I/0 D3 IRQ10 I
Cc4 LA21 I/0 D4 IRQ11 I
C5 LA20 I/0 D5 IRQ12 I
C6 LA19 I/0 D6 (IRQ15) I
Cc7 LA18 I/0 D7 IRQ14 I
cs8 LA17 I/0 D8 (-DACKO) O
C9 -MEMR I/0 D9 (DRQO) I
C10 -MEMW I/0 D10 —DACK5 O
C11 SDO08 I/O D11 DRQ5 I
Ci12 SDO09 I/0 D12 —DACK6 O
C13 SD10 I/0 D13 DRQ6 I
Ci14 SD11 I/0 D14 (-DACK?7) O
Ci15 SD12 I/0 D15 (DRQY7) I
C16 SD13 I/0 D16 +5 VDC Power
C17 SD14 I/O D17 —MASTER I
C18 SD15 I/0 D18 GND Ground

1-8




Chapter 1

Hardware Overview




Contents

11 DeskSationlVReaturesS . . ... oo 11
12 Systemlhit BockDOagram . ... ... ... 1-2
13 InterfaceBoardBockDagram ......... ... ... . . .. .. .. ... 13
14 POVEr SUPPIY . oo 15
15 Epansiong olS . . ..ot 1-6
L81 Fhysical DN@NSIONS . . . . .ot e e 1-6
152 MaxinumPower GapacCi ty . . ... oo 1-6
153 LhsupportedI gnal S. . ... ..o 1-6
L84 ANASSIgNNBtS . . ..ot 17
Figures
Fgurel-1TheDeskSationlV. .. ... ... e 11
Fourel-2 Systemlhit BockDagram .. ... ... i 1-2
Fourel-3InterfaceBoardBockDagram . ... ........ ... .. ... . 1-3
Fogurel-4 Expansion@ONNECt OF . . . . . ..ot e 17
Tables
Tabl e1-1 DeskSati onl VPower Suppl yGapabi lities . ... ... ... ... .. .. ... 1-6
Tabl e1-2 LhsupportedExpansiond ot Sgnals. . .. ... ... o i 1-6
Table1-3 A NASSIgNNBNL . . . . .. . e 1-8

1-iii



2.1 Desk Station IV Troubleshooting

Thi s chapt er descri beshowt odet erminei f aH el dRepl aceabl eLhi t (FR) i nt he Desk
SationlVisnot functioni ngproperly. TheFRJ scoveredare:

OO0O0d

Power supply board

Interface board (PCB FDPSY 2)
Back panel board (PCB FDPBP2)
LED board (PCB FDPLE?)

The following tools are required to perform the Desk Station 1V troubleshooting steps:

Lo

e
NP o

©oNOOOAWN

Desk Station IV diagnostics disk

Phillips head screwdriver

Tweezers (to pick up screws that you cannot grasp with your fingers)
printer wraparound connector (F31PRT)

RS-232-C wraparound connector

Wraparound board (FDSTS3)

Computer system that can be connected to the Desk Station IV
IBM PS/2 keyboard

PS/2 mouse

Externa 5 1/4" floppy disk drive

5 1/4" 2D or 2HD formatted work disk (for FDD testing)
Multimeter

2-1



2.2 Troubleshooting Flowchart

Wsethefl onchart i nH gure2- lasagui det odet er mhnewhi chFRUt esti ngprocedurest o
execute. Beforeperfornmngt hefl owchart steps, perfornthefal | ow ngst eps:

(D Renovea |l optional equi pnent frontheDeskSationl V.

(3 Oonnect apersonal conput er totheDeskS ationl V.

NOE RefertotheDeskSati onl Vibker' sMinual for i nstructi ons onhowt oconnect
theconput er totheDeskS ati onl V.

(3  @nnect t hew apar oundboar dt ot heexpansi onsl at, thepri nt er w apar ound
connector totheprinter port, andt he RS 232- Cw apar ound connect or t ot he
seria port ontheDeskS ati onl V.

2-2



( sTART )
!

Connect the computer to
the Desk Station IV.
'
Make sure the configuration
switch is set correctly (See Chapter 2).

Turn the Desk Station IV
power switch on.

v

Does the
Desk Station IV's "Power"
indicator light orange?

No

‘ Yes

Turn the computer power
switch on.

'

Does the
Desk Station IV's "Power"
indicator light green?

{ Yes

Does the DC
fan turn correctly?

Perform the LED board
| troubleshooting procedures
in section 2.3

Check the connection between
computer and Desk Station IV.
Perform the Power Supply Unit
Troubleshooting Procedures in
2.4, if the problem still occurs.

Perform the Back Panel Board
and Interface Board Trouble-
shooting Steps in section 2.5.

Is the
"TOSHIBA Desk Station
ATTACHED." message displayed
on the screen?

Perform the Back Panel Board
and Interface Board Trouble-
shooting Steps in section 2.5.

| Yes

Load MS-DOS and run the Desk
Station IV diagnostics program.

Is an error detected?

Perform the Test Program
Troubleshooting Steps
in section 2.6,

Figure 2-1 Troubleshooting Flowchart

2-3



2.3 LED Board Troubleshooting Procedures

Thi ssect i ondescri beshowm odet ermnei f t he LEDboar di sdef ecti ve. Sart wthPR ocedure
landconti nuew t hot her proceduresasi nstruct ed. Thepr ocedur esdescri bedi nthi ssection
ae

Procedure 1: Connector checklist

Procedure 2: Circuit checklist

Procedure 1 Connector checklist

The LEDboar di s connect edt ot he back panel boar d (PABFOPBP2) by acabl e. Thi scabl e
nay bedi sconnect ed. Qpent het opcover of theDesk S ati onl Vt ocheckt heconnect i on.
D sassentl y procedur es ar edescr i bedi nCGhapt er 4, Repl acenent B ocedur es.

Check1l MikesurethelBDcabl ei s connect edt ot heback panel boar dcorrect!y as shown
bel ow

LED board PJ8 Back panel board

I f thi scad ei sd scomnected, comect it. Restart thesystem If theprad enstil |
occur s, perforntheck 2.
(heck2 The LEDboar d may be damaged. Repl aceit w t hanewone.

D sassentl y procedur es ar edescr i bedi nChapt er 4, Repl acenent B ocedur es.
Restart thesystem If theprob ensti || occurs, perforn ocedure2.

Procedure 2 Circuit checklist

There may be problems with the circuit connecting the power supply through the LED
board. Perform the power supply unit troubleshooting procedures described in Section 2.4.

2-4



2.4 Power Supply Unit Troubleshooting Procedures

Thi ssecti ondescri beshoa odet ermnei f t hepover suppl yunit i sdefective. Sart wth
P ocedurelandconti nuew t ht heot her proceduresasi nstruct ed. Theprocedur es descri bed
inth ssectionare:

Procedurel: ACcordcheckl i st

A ocedure2: Fover suppl y connect or checkl i st
P ocedure3: Power suppl y out put vol t agecheckl i st
A ocedur e4: Fover suppl yuni t repl acenent checkl i st

Procedure 1 AC cord checklist

Pover i ssuppl i edtotheDesk S ati onl Viromawval | outl et t hrought he ACcor d.

Check1l MkesuretheACcordisfirnhypluggedintotheACl Nsocket ont he back of
theDeskS ationl V.

Check2 Uhplugthe ACcordfromtheDesk S ationlV. ChecktheACcordout put vol t -
agewthanul ti neter.

| f out put vol tagei snornal , perfor A ocedure2.

| f out put vol t agei sabnornal , perfor mtheck 3.

Check3 Repl acet he ACcordw thanewone. Performtheck 2agai n.

| f theprod enstil | exi sts, perfornbocedure2

Procedure 2 Power supply connector checklist
TheDesk S ati onl Vpower suppl y suppl i esvol taget ot hei nt er f ace boar d ( PFABFZPSY2)
andt he back panel boar d ( PGBBFZPBR2) t hr ought he power suppl y cabl es.

Check1 NMkesurethefour pover suppl ycabl esareconnect edt ot hei nt er f ace board
(PABFDPSY2) and back panel boar d ( PCBFCPBP2) as shown bel ow

| PJ5 Interface
Power PJ7 board
Supply

Unit

| PJ4 Back panel
PJ5 board

2-5



| f t hesecabl esared sconnect ed, connect them Restart thesystem

I f theprobl enstill exists, perforntheck2

Check2  Thef our power suppl y cabl es nay be danaged. Perf or mPr ocedur e 3.

Procedure 3 Power supply output voltage checklist

Tabl e2- 1showst heDesk S at i onl Vpower suppl y out put vol t agespeci fi cat i ons:

Table 2-1 Power Supply Specifications

Board Name PJ Number Pin No. Signal Name

DC IN

Ground
CURNT
Ground

Interface board PJ5

A WNBEF

PJ7 RVCC
RGND
Ground
CPCNF1
ADPCNT1
Ground

PCCONNO

NOoO oA~ WN PP

Back panel board PJ4 -5V
Ground
-12V

Ground

A WN P

PJ5 +5V

+5V

Ground

Not connected
+12V

Ground

OO WNPE

Check1l (hecktheout put vol t ageof eachcall e.

NOE Tochecktheout put vol t age, aconput er nust be connect edtotheDesk S ati on
| Vand bot hnust bet ur nedon.

| f theout put vol tagei snornal , anot her cabl e nay be danaged.

| f theout put vol t agei sabnornal , perfor nP ocedure4.
2-6




Procedure 4 Power supply unit replacement checklist

The pover suppl y uni t nay be danaged. Repl acetheunit fol | ow ngt he pr ocedur es de-
scri bedi nChapt er 4, Repl acenent Procedur es.

I f theprobl enstil | exists, thebackpanel boardor i nt erfaceboar dnay bedanaged. FRerform
t he Back Panel Boar dand| nt er f ace Boar d Tr oubl eshoot | ngProcedures| i st edi nSection2. 6.

2-7



2.5 DC Fan Troubleshooting Procedures

Thi ssect i ondescri beshowm odet ermnei f theDCfani sdefective. Sart wthPocedurel
andcont i nuew t hat her proceduresasi nstruct ed. Thepr ocedur esdescri bedi nt hi ssecti on
ae

Procedurel: @nnect or checkl i st

P ocedure2: CGreutcheddist

NOTE Tooper at et he DCf an, aconput er nust be connectedtotheDesk S ationlV,
andbot hnust bet ur nedon.

Procedure 1 Connector checklist

The DCf ani s connect edt ot he back panel boar d ( PGBFOPBP2) by acabl e. Thi s cabl e nay
bedi sconnect ed. Qpent het opcover of theDesk S ati onl VVt ocheckt hi sconnecti on.
D sassentl y procedur es ar edescr i bedi nGhapt er 4, Repl acenent B ocedur es.

Check1l Mkesurethefancabl ei sconnectedtot heback panel boardcorrect|yasshoan
bel ow

DC fan PJ6 Back panel board

I fthi scad ei sd scomnected, comect it. Restart thesystem If theprad enstil |
occurs, perforntheck 2.
(heck2  The DCf an nay be danaged. Repl aceit w t hanewone.
D sassentl y pr ocedur es ar edescri bedi nChapt er 4. Ater repl aci ngt hef an,
restart thesystem | f theprobl enstil | occurs, perfor P ocedure2
Procedure 2 Circuit checklist

Ther e nay be probl ensw t ht heci rcui t connecti ngt he power suppl yandDCfan. Perform
t hepover suppl yuni t troubl eshoot i ngpr ocedur esdescri bedi nSection2. 4.

2-8



2.6 Back Panel Board and Interface Board
Troubleshooting Procedures

Thi ssecti ondescri bes howt odet er mnei f t he back panel boar d ( RBFPBR2) or i nterface
card(PBHIPSY2) i sdefective. Sart wthPocedurelandconti nuew t hot her procedur es
asinstructed. Theprocedur esdescri bedi nthi ssecti onare:

Frocedurel: nnect i ons bet weent he conput er andt he Desk S ationlV
dedis
P ocedure2: Gnnect or andr epl acenent checkl i st

Procedure 1 Connections between the computer and the Desk Station IV
checklist

The nessage, “TCBH BADesk S ati on ATTAGHED " wi | | not appear ont he conput er
displayiftheDeskSationl Vi snot connect edtot hesystentorrectly. |f thi snessagedoes
not appear, checkthefal | owngitem

Check1  (hecktheexpansi onbus connect or andnakesureit i sconnectedcorrectly.
Restart thesystem
I f thesystenstill doesnat functi onproper!yperfor A ocedure2.

Procedure 2 Connector and replacement checklist

Thei nt erf aceboar di s connect edt ot heback panel boar dby asocket. Thi ssocket nay be
di sconnect edf r ot he back panel boar d (PGBFCPBR2) . (pent het op cover of t he Desk
Sationl Vtocheckthi sconnection. D sassentl y procedur esar edescri bedi nGhapt er 4,
Repl acenent A ocedur es.

Check1l Mkesuretheinterfaceboardisconnect edt ot heback panel boardcorrectlyas
shown bel ow

Interface board PJ3 Back panel board

| f thi ssocket i sd scomnect ed, comnect it. Restart thesystem | f theprobl enstil |
occurs, perforntheck 2.

(heck2 Theinterfacecard(PBFOPSY2) or back panel boar d ( PCBFCPBP2) nay be
danaged.

Repl acet hei nt er f acecar dw t hanewone, andrest art t hesyst em

I f theprobl enstill exists, thebackpanel boardnay bedanaged. Repl aceit wth

anewone.
2-9



2.7 Test Program Troubleshooting Procedures

Thi ssect i ondescri bes howt odet er nnnewhi chpart i sdef ecti vewhenanerror i sdet ectedon
onecf theitensi nthetest program Test programoper at i oni sdescri bedi nChapt er 3.

If anerror i sdetectedontheRinter Test, perfornPocedurel. If anerror i sdetectedonthe
Seria Port Test, performProcedure2. |f anerror i sdetect edont heExpansi onTest, perform
Procedure3. |f anerrorisdetectedontheHDTest, perfornProcedured. If anerroris

det ect edont he Keyboar d/ Mbuset est, perfor nR ocedur e5.

Procedure 1:
Procedure 2:
Procedure 3:
Procedure 4:
Procedure 5:

Printer test checklist
Serial port checklist
Expansion test checklist
FDD test checklist

Keyboard/mouse test checklist

Procedure 1 Printer test checklist

Perform this procedure when an error is detected on Subtests 01 (Ripple pattern), 02 (Func-
tion), and 03 (Wraparound) of the printer test.

Check1l Mkesuretheprinter andw apar oundconnect or ar e connect edt ot he Desk
SationlVeorrectly. If theerrorsstill occur, perforniheck2.

Check 2  Thei nt erface boar ds nay be danaged. Repl acet hei nt erf ace boar d1 ( P(B
FOPSY2) w t hanewone. O sassentol y procedur es ar edescri bedi nhapt er 4.
Iftheerror still occurs, performCheck3.

Check 3  The back panel boar d (PCBFDOPBP2) nay be damaged. Repl aceit w thanew
one. D sassentl y procedur esaredescri bedi nGhapter 4. If theerror still occurs,
per f or mCheck 4.

Check4 Theinterfacecabl enay bedanaged. Repl aceit wthanewone. D sassenfl y
pr ocedur es ar edescri bedi nChapt er 4.

2-10



Procedure 2 Serial port checklist

Ferfornt hi sprocedurevhenanerror i sdetectedonSubt est 01(Serial port w apar ound) of
theSerid Rort Test.

Check 1

Check 2

Check 3

Check 4

Check 5

Mike sur et he RS- 232- Cwr apar ound connect or i s connect edt ot heDesk S at i on
IVcorrectly. Iftheerrorstill occurs, performtheck2

Ensur et hat t heconput er set upprogram sproperl yset. Rerfornthetest program
again. Iftheerrorstill occurs, perfornmtheck3.

Thei nt er f ace boar ds nay be danaged. Repl acetheinterfaceboardl1(RB
HPSY2) w t hanewone. D sassentl y procedur es ar edescr i bedi nChapt er 4.
Iftheerrorstill occurs, perfornheck4.

The back panel boar d (PGBFDPBP2) nay be danaged. Repl aceit w thanew
one. D sassentl yprocedur esar edescri bedi nGapter 4. 1f theerror still occurs,
per f or mtheck 5.

Thei nt erf ace cabl e nay be danaged. Repl aceit wthanewone. O sassentol y
pr ocedur es ar edescri bedi nGhapt er 4.

2-11



Procedure 3 Expansion test checklist

Rerfornt hi s procedurewhenanerror i sdet ect edduri ngt he Expansi onTest .

NOE |f younust di sassenl et heunit, refer toChapt er 4f or di sassentl y andr eas-
sentl yi nstructi oms.

Check 1

Check 2

Check 3

Check 4

Check 5

Check 6

2-12

Mike sur et hew apar ound boar di s connect edt ot heDesk S ati onl Vcorrectly.
Qmrectitifitisnot connected Iftheerrorstill occurs, perforntheck2

Mkesur et hei nterfacecad ei sconnectedcorrectly. Gnnectitifitisnot conr
nected. If theerror still occurs, performtheck3.

Mike sur et he back panel boar d (FCBFDPBP2) i s connect edcorrect | y. Gnnect
itifitisnot comected. Iftheerrorstill occurs, perfornheck4.

Thei nt er f ace boar d nay be danaged. Repl acet hei nt er f ace boar d (R(B
FOPSY2) wthanewone. | f theerror still occurs, performtheck5.

The back panel boar d (PGBFCPBP2) nay be danaged. Repl aceit wthanew
one. Iftheerror still occurs, perfornheck6.

Thei nt er f ace cabl e nay be danaged. Repl aceit w t hanewone.




Procedure 4 FDD test checklist

Wenanerror i sdetectedduri ngt he FODTest, andanext ernal 5-1/ 4-i nchHDi s con-
nectedtotheHDport, perfornthefol | ow ngprocedure.

Check1l MkesuretheHDcabl eisconnectedtothe5-1/4-i nchHDandDesk S ati on
IV sHDport correctly. Iftheerror still occurs, performeck2

(heck2 MikesureyouturnontheDeskSationlVafter youturnontheexterna 5 1/ 4-
inchHD Iftheerrorstill occurs, perfornmGeck3.

Check3  Thei nterfaceboar dnay bedanaged. Repl acet hei nt er f ace boar d (P(B
HPSY2) w t hanewone. D sassentl y procedur es ar edescr i bedi nChapt er 4.
Iftheerrorstill occurs, perfornCheck4.

Check4  The150-pi ni nt erfacecabl e nay bedanaged. Repl aceit wthanewone. D sas-
sentl y pr ocedur es ar edescri bedi nChapt er 4.

Wenanerror i sdet ectedduri ngt he DTest, anda5- 1/ 4-i nchHDi s connect edt ot he
5 1/ 4-inchdrivebay, perfornthefal | ow ngprocedur es.

NOE |f younust di sassentl etheunit, refer toChapt er 4f or di sassentl y andr eas-
sentl yi nstructi os.

Check1 HBEnsurethat thejunper strap(RJ11, RI12, andRJ13) ont hei nt er f aceboar di s set
asfoloms. Iftheerrorstill occurs, performCheck?2.

Setting PJ13

If 5 1/4" internal FDD supports: Jumper Setting
Mode/Density select PJ13 Short
No Mode/Density select PJ13 Open

Setting PJ11 and PJ12

Drive Type: Signal Name Jumper Setting

1.2 MB Disk change PJ11 Short
PJ12 1-2 Short

360 KB Ready PJ11 Open
PJ12 2-3 Short

2-13



Check 2

Check 3

Check 4

Check 5

Mike sur et he FODsi gnal cabl ei s connect ed bet weent he 5- 1/ 4-i nch HCDand
t hei nt erf aceboar d(PJ3) asshownbel ow I f theerror still occurs, perforntCheck
3

Interface board PJ3 5 1/4-inch FDD

Ensur et hat t he FCDpower cabl ei s connect ed bet weent he 5- 1/ 4-1 nch CDand
t heback panel boar d(RJ7) asshownbel ow If theerror still occurs, perform
Check 4.

Back panel board PJ7 5-1/4-inch FDD

Thei nt erf aceboar dnay bedanaged. Repl aceit wthanewone. | f theerror still
occurs, perforntheck5.

The 150- pi ni nt er f ace cabl e nay bedanaged. Repl aceit wthanewone. | f the
error still occurs, the5- 1/ 4-i nchH-Dnay bedef ect i ve.

Procedure 5 Keyboard/mouse test checklist

Rer f or t hi s procedur ewhenanerror i sdet ect edduri ngt he Keyboar d ( nouse) Test .

Check 1

Check 2

Check 3

Check 4

2-14

\erifythat theexterna keyboardcabl eor PS 2nousecabl ei s connect edt ot he
DeskSationl Veorrectly. Iftheerror still occurs, performCheck2

MkesureyouturnontheDesk S ati onl Vaf t er youconnect theexternal key-
boardor PS 2nouse. | f theerror still occurs, perforntheck 3.

Thei nt er f ace boar d nay be danaged. Repl aceit wthanewone. O sassentol y
pr ocedur esaredescri bedi nGhapter 4. 1f theerror still occurs, performtheck4.

The 150- pi ni nt er f ace cabl e nay be danaged. Repl aceit wthanewone. D sas-
sentol y pr ocedur es ar edescr i bedi nChapt er 4.



Chapter 2

Troubleshooting Procedures




Contents

21 DeskSationlVTroubleshooting .. ......... .. . . i 21
22 TroudleshootingHowchart . ... ... .. . . . . . . 22
23 LBEDBoardTroubl eshootingPocedures . .......... ... .. .. .. .. .. ..... 24
24 Pover Quppl yUhit Troubl eshootingProcedures .. ..................... 25
25 DCRanTroubl eshootingProcedures .. ... .. .. 2-8
26 BackPanel Boardandl nt er f ace Boar d Tr oubl eshooti ngRrocedures ... ....... 29
27 Test Programiroubl eshootingProcedures .. .......... ... . ... 210
Figures

Fgure2-1Troubl eshootingHowchart ... ... ... .. .. .. .. .. . . ... . ..., 23
Tables

Table2-1 Pover Supply Jpecifications . . ... ... 26

2-ii



3.1 General

TheDesk S ationl Vtest program susedt ocheckthesi gnal | i nesbet weent he conput er and
DeskSationl Vsl ats. It isal sousedtocheckthedatal i nesandcontra |inesintheseria port
adperd | d port.

Thef ol | ow ngi t ens ar enecessar yt oexecut et het est anddi agnost i ¢ pr ogr ans.

1

2

Desk S ati onl \VVdi agnosti csdi sk

P i nt er w apar ound connect or ( F31PRT)
(For printer waparoundt est)

RS- 232- Cwr apar ound connect or
(For ASYNCwr apar oundt est)

W apar ound boar d ( FOSTS3)
Aconput er syst emahi chcanbe connect edtotheDesk S ationlV

Rinter
(Forprinter functi ontest andprint shift character testing)

Theexternal floppydi skdriveanda2HDor 2Df or nat t edwor ki ngdi sk
(for HDtesting)

Anext ernal PS 2101/ 102- key keyboar d

APY 2 nouse

3-1



3.2 Operations

1 nnect aconputer totheDeskS ationl V.

NOE Refer totheDeskS ati onl Vibser’ s Minual for norei nf or mat i onabout howt o
connect aconput er totheDesk S ati onl V.

2 TurnontheDeskSationl Vfirst, thentheconputer.

3 @nfirnthat thefad | owngnessaged spl aysuntil theconputer' sselftestis
conpl et ed:

TOSHI BA Desk Station ATTACHED

4 Aterrunninghg D35 insert thed agnosti csdi skintheconputer' sfl oppy di sk
dive

5 Typei n ASDESKSA and pr ess Enter.

6 The nai nnenu appear s as shown bel ow
TOSHI BA personal conputer [Desk Station IV] DI AGNOSTI CS
Version *.** (C) Copyright TOSH BA Corp. 19**
DI AGNOSTI CS MENU :
1 - DI AGNOSTI C TEST
5 - LOG UTILITIES
9 - EXIT TO Ms- DOS
PRESS [1]-[9] KEY

1: DI AGNOSTI C TEST
Pess1toaccesst het est nenu.

5. LOG UTILITIES
Rressbtoaccesstheerror logutilitiesnenu. Refer toSection3 9for
narei nfornat i onabout thel ogutilities.

9: EXIT TO Ms- DOS
Press9toreturntot he Ms DO5pr onpt .

3-2



7 Typeinltosel ect thed agnostictest, andpressEnter. Thefol | ow ngnenu
s

TOSHI BA personal conputer [Desk Station IV] DI AGNCSTI CS
Version *.** (C) Copyright TOSH BA Corp. 19**

DI AGNOSTI C TEST MENU :

- PRI NTER

- SERI AL PORT

- EXPANS| ON

FDD

- KEYBOARD

- EXIT TO DI AGNOSTI CS MENU

O Ok~ WN P
1

PRESS [1]-[9] KEY

1 to 5: PRINTER, SERI AL PORT, EXPANSI ON, FDD, KEY-
BOARD
Ressingl, 2, 3,4, or 5cal | suptheprinter, seria port,
expansi on, LD or keyboar dt est nenus.

99: EXIT TO DI AGNOSTI CS MENU
Rress99toret urntot hed agnosti cs nenu.

Tabl e3-11i st sthesubt est sof eacht est program Eachsubt est i sdescri bedin
Sections3.3t03. 7.

Tabl e 3-1 Qubt est Nanes

No. Subtest Name Subtest No. | Subtest Item
1 PRINTER 01 Ripple pattern
02 Function
03 Wraparound
2 SERIAL PORT 01 Serial port wraparound
3 EXPANSION 01 IBM card-slot wraparound
4 FDD 01 Test
5 KEYBOARD 01 Test
02 Mouse check

3-3



8 Atertypinginatest nuner (1to5) fronthetest sel ect nenuand pressi ng Enter, a

subt est nenuappears. The scr een shown bel owappear s whenyout ype 1and pr ess
Hiter.

PRI NTER TEST TSSDSS
Desk Station |V DI AGNOSTI C V*. **
[Crl]+[Break] ; test end
[Crl]+ ; key stop

SUB TEST : XX
PASS COUNT: XXXXX  ERROR COUNT: XXXXX
WRI TE DATA: XX READ DATA : XX
ADDRESS o XXXXXX  STATUS o XXX

SUB- TEST MENU :

01 Ri ppl e pattern

02 - Function

03 W apar ound

99 Exit to DI AGNOSTI C TEST MENU

SELECT SUB- TEST NUMBER ?

NOE If atest program sinprogress, press Ctrl+Breaktoexit thetest program or
press Ctrl[+Ct ost opt he pr ogram

3-4

D spl ayedi nf or nat i oni s br okendowni nt hefol | ow ngor der :

(1) T SSDSS

Eror code(SeeTabl e3-4).

Devi ce nunber (RS 232- Cchannel nuntoer)
bt est nuniver (SeeTabl €3-1).

Test nunber (SeeTabl €3-1).

(2) SUB- TEST: bt est nuntoer

(3) PASS COUNT: Nunfoer of passes execut ed

(4) ERROR COUNT: Nunfer of errors

(5) VR TE DATA: xt aout put duri ngt het est

(6) READ DATA: Test responsedat a

(7) ADDRESS: The subt est nunber of t he EXPANSI ONtest.

(8) STATUS: Thefirst nuner i ndi cat est hedevi cenunier .
'srtr;séecondandthi rdnuntoer si ndi cat et heerror




9. Select asubtest by typing in the test number, and pressing Enter. The following
message appears.

TEST LOOP (1:YES/ 2:NO) ?

1: YES:. Eachtimeatest cycle ends, it increments the pass counter by one and
repesats the test cycle.

2: NO Attheend of atest cycle, the test execution is terminated and returns to the

subtest menu.

10. Typein1 or 2, and press Enter. The following message appears:

ERROR STOP (1: YES/ 2: NO) ?

1: YES: When an error occurs, the error status will appear and execution of the test

program will stop. The operation guide shown below will appear on the

right side of the display screen.
ERROR MESSAGE [[ HALT OPERATI ON ]]
1 : Test end
2 . Continue
3 : Retry
1. Test end

Terminates test program execution and returns to the subtest menu.

2: Continue
Continues the test and proceeds to the next step.

3: Retry
Executes the error step by step.

Error messages are described in Section 3.8.

2: NO  When an error occurs, the error status will appear, the error counter will
increase by one, and the test will go to the next test.

11. Typeinl1or 2, and press Enter. The test program is executed.

3-5



3.3 Printer Test

CAUNMON Aprinter (1 Bviconpat i bl €) nust be connect edt ot hesyst em norder to
execut esubt est s01and02.

3.3.1 Contents

Subtest 01  Ripple pattern

Character codes 20H to 7EH are printed line by line while shifting one charac-
ter to the right at the beginning of each new line as shown below.

1" #SY& () *+, - ./ 0123456789: ; <=>?@BCDEFGHI JKLMNOPQRSTUWKYZ[\ ] ~_* abcdef ghi j kIl m
1" #$U& () *+, -./0123456789: ; <=>?@BCDEFGH JKLMNOPQRSTUVWKYZ[\]~_* abcdef ghi j kI m
“HSUR' () *+, -./0123456789: ; <=>? @BCDEFGHI JKLMNOPQRSTUVWKYZ[ \ ]~ " abcdef ghi j kI rmo
#SUR' () *+, -./0123456789: ; <=>? @BCDEFGH JKLMNOPQRSTUVWKYZ[\ ] ~_* abcdef ghi j kI mop
$UR () *+, -./0123456789: ; <=>? @BCDEFGHI JKLMNOPQRSTUWKYZ[\ ] ~_* abcdef ghi j kI mopq
&' ()*+,-./0123456789: ; <=>?@BCDEFGHI JKLMNOPQRSTUVWKYZ[\]~_‘ abcdef ghi j kI rmopgqr
& ()*+,-./0123456789: ; <=>?@\BCDEFGH JKLMNOPQRSTUVWKYZ[\]~_* abcdef ghi j kI mopqr s
“()*+,-./0123456789: ; <=>? @BCDEFGHI JKLMNOPQRSTUWKYZ[ \ ] ~_" abcdef ghi j kI mopqr st
()*+, -./0123456789: ; <=>?@BCDEFGH JKLMNOPQRSTUVWKYZ[\ ] ~_* abcdef ghi j kl mopqr st u
)*+, -./0123456789: ; <=>?@BCDEFGH JKLMNOPQRSTUVWKYZ[\ ] ~_* abcdef ghi j kI mopqr st uv
*+ -./0123456789: ; <=>? @\BCDEFGHI JKLMNOPQRSTUWKYZ[\ ] ~_* abcdef ghi j kI mopqr st uvw

Subtest 02  Function
The following print functions are tested:

Normal print
Double-width print
Compressed print
Emphasized print
Double-strike print
All characters print

The following is a sample of the function test:

PRI NTER TEST
1. TH' S LI NE SHOAS NORMAL PRI NT.
2. THI S LI NE SHOWS DOUBLE- W DTH PRI NT.

TH S LI NE SHOAS COMPRESSED PRI NT.
THI'S LI NE SHOWS EMPHASI ZED PRI NT.

THI'S LI NE SHOWS DOUBLE- STRI KE PRI NT.

. ALL CHARACTERS PRI NT

" #$9& () *+, ./ 0123456789: ; <=>? @BCDEFGH JKLMNOPQRSTUWAKYZ[ \ ]~ abcdef ghi j kI m

opqr st uvwxyz{| } ~

o0 s w

3-6



Subtest 03 ~ Wraparound

The data control and status lines are checked with the printer wraparound
connector.

NOE Aprinter w apar oundconnect or i snecessaryfor executi ngthistest. Awring
di agramof thepri nter w apar oundconnect or i sshowni nSection 3. 10,

3.3.2 Operations

1.  When you select Subtest 01, 02, or 03, the following message will appear:
Sel ect the channel nunber ( 1 - 3 ) ?

Type the printer channel number, and press Enter to execute the subtest.

3-7



3.4 Serial Port Test

3.4.1 Contents
Subtest 01  Seria port wraparound

A data send/receive test is performed with the wraparound connector. Set up
of the communication modeis as follows:

asynchronous, 9600BPS, data 8 bit + parity (even),
1 stop bit, data = 20H-7EH code

NOTE The RS 232- Cw apar ound connect or nust be connect edt ot he GCOMBport to
executethi stest. Thew ringdi agranfor t he RS 232- Cwr apar ound connect or i S shown
inSection3 10,

3.4.2 Operations
1. When you select Subtest 01, the following message appears.
Sel ect the channel nunber (1/2/3) ?

Typetheseria port channel nuner, andpress Entert oexecut et hesubt est .

3-8



3.5 Expansion Test

35.1 Contents

Subtest 01 IBM card-slot wraparound (16-bus)

NOTE  Awr apar ound boar d ( FOSTS3) nust be connect edt ot hel BVl ot t oexecut e
thsted.

The IBM AT-dot (16-bit bus) is checked with a wraparound board. The
following table lists the tests in the order they are performed.

Tabl e 3- 2Bxpansi onTest s

No. Test Item

01 Clock test (Each signal of OSC, SYSC, BALE, REFM)

02 Interrupt test (IRQ7 to 3, NMI, IRQ14, IRQ12 to 9)

03 DMA#1 test (Channel 1 to 3, TC status)

04 Data bus test (0000H to FFFFH)

05 Address bus test (DOO0H:0000 to FFFFH)

06 IORDY test (Read value of 304H checks xCH)

07 IOCS16 test (Counts compare)

08 MASTER test (Read/write check)

09 DMA#2 test (Word transfer to channel 5 and 6, T/C status)
10 Power line test (-12, -5, +12 V)

11 A16-23 test (MEMCS16 at 380000H and 340000H, address line)

3.5.2 Operations

1 Duringthetest, thefol | owngnessagew | | appear andabeepsoundw I | be
ennt t edf ront hespeaker .

Press [Enter] key?

3-9



3-10

2. Ifyouselect 1: YES at the TEST LOOP question:
The PASS COUNT will increase by one each time you press Enter, and the
speaker will continue beeping. To stop the beep, press Ctrl+Break.
If you select 2: NOat the TEST LOOP gquestion:
When you press Enter, the speaker will stop beeping and the subtest menu
will appear. Table 3-3 shows the defective contents of the expansion test.
Table 3-3 Defective Contents
Sub# Address Good Bad Defective Contents
01 0O 00 01 78/D8 XX OSC, SYSC, SIOC, BALE, REFM
02 0O 00 02 FA XX 8259#1 (IRQ7, 6, 5, 4, 3, NMI)
0O 00 02 F8 8259#2 (IRQ14, 12, 11, 10, 9)
03 (ch,#) 00 03 nn DMA#1, Channel #1 to 3
nn=FF, AA, 55, 00, EE, 99, 44, 00
04 0O 00 04 00-FF XX Data line (8-bit)
05 D aa aa bb bb Address line (A15 to 0)
aaaa = test address, bbbb = read data
06 0O 00 06 0C 0x IORDY
07 0O 00 o7 ff ss IOCS16 (ff<ss)
ff = first data, ss = second data
08 0O 00 08 nn XX MASTER (nn = FF, AA, 55, 00)
09 0O 00 09 nn XX DMA#2, Channel #5, 6
nn = FFFF, AAAA, 5555, 0000, EEEE,
9999, 4444, 0000
12 0O 00 12 A0/40 X0 -12V, -5V, +12V
13 0O 00 13 00 X0 38xxxX
01 XX 34XXXX
nn XX Address line test (nn = A16 to 23)
nn: Test data Good: Write data
ff:  First data Bad: Read data
ss.  Second data




3.6 FDDTest

3.6.1 Contents

Subtest 01  Test

Thistest checks the external 5-1/4-inch floppy disk drive connected to the Desk
Station IV FDD port, and the 5-1/4-inch floppy disk drive installed in the
5-1/4-inch drive bay.

The test writes data to one sector and then reads the data and compares it with
the original dataon a 2D or 2HD floppy disk.

NOE Toexecutethi stest, theexterna 5 1/ 4-i nch HCDnust beconnect edt ot he Desk
Sationl Vanda5 1/ 4-i nchfl oppy di sk (2Dor 2HD) nust bei nsertedi nthedri ve.

CAUNON If boththeexterna 5 1/ 4-i nchHDandt he5-1/ 4-i nchHDi nthedri ve
bay ar econnect edt otheDesk S ati onl V, nei t her FCDw | | oper at e.

The external 5-1/4-inch FDD and the 5-1/4-inch FDD in the 5-1/4-inch drive
bay can be assigned to drive A or B by using the external FDD/PRT option in
the computer's setup program as follows:

External FDD/PRT Desk Station IV
(in the Setup program) FDD
Printer Drive B
FDD B Drive B
FDD A Drive A

3.6.2 Operations

1.  If you connect a 2HD type drive:
When you select Subtest 01, the following message will appear :
Select media ! (1:2D, 2:2HD)?

Type in the appropriate number for the type of disk in the FDD, and press
Enter to execute the subtest.

2. If you connect a 2D type drive:

Select Subtest 01 to execute the subtest. (The message above doesn't appear.)
3-11



3.7 Keyboard Test

Gauti on: Anexternal keyboar dnust beconnect edt ot heDesk S ati onl Vinorder to
executeth stest.

3.7.1 Contents
St est 01 Test

Thi stest checkst hef uncti onsof anext ernal 101/ 102- key keyboar dat t achedt o
theunit. Atest of thefal | owngl1Okeysi sperfornedi norder.

[F1], [TAB], f, ,, /, [F12], e, b, [Del], [Home]

St est 02 Mbuse check

CGaut i on: APS 2nousenust be connect edtoperfornthi stest.

Thi st est checkst hef uncti onsof aPS 2nouseconnect edt ot heDeskS ati on
(AV4

3-12



3.8 Error Messages

The diagnostic program displays error messages when an error occurs during the execution of
each test item. The message contains useful information such as the data used for the test and

the test address. Refer to Table 3-4 below for alisting of error statuses and error codes.

Table 3-4 Error Satus Code List

Device Name Error Code Error Status
Common FF Data compare error
Printer 01 Time-out error

08 Fault error

10 Select line

20 Paper end

40 Not connect PRINTER

80 Busy line
Serial port 01 [DSR ON] Time-out error

02 [CTS ON] Time-out error

04 [RX READY] Time-out error

08 [TX FULL] Time-out error

10 Parity error

20 Framing error

40 Overrun error

80 Line status error

88 Modem status error
Expansion bus 01 Clock signal error

02 8259#1 Interrupt error

03 8259#2 Interrupt error

04 DMA (8-bit transfer) error

05 Data line (bit 7..0) error

06 Data line (bit 15 ..8) error

07 Address line (A15..0) error

08 I/O CH READY line error

09 I/O CS16 line error

0A MASTER line error

0B DMAC (16-bit transfer) error

oC Serial I/O CS line error

oD There is no test card.

OE Address line (A23..16) error

OF MEM CS16 line error

10 Incompatible machine type
FDD 01 FDD-BAD command error

02 FDD-ADDRESS mark not found

03 FDD-WRITE protected

04 FDD-DMA overrun error

08 FDD-DMA boundary error

09 FDD-CRC error

10 FDD-FDC error

20 FDD-SEEK error

40 FDD-TIME-OUT error

80 FDD-NOT DRIVE error

06 FDD-MEDIA removed

EE FDD-WRITE buffer error
Keyboard 03 PS/2-Interface error

3-13



3.9 Log Utilities

This program logs error information generated while atest isin progress, and storesit in
RAM.

If the POWER switch is turned off, the error information will be lost. The error information
itself is displayed as follows:

Error count (CNT)

Test name (TS)

Subtest number (NAME)

Pass count (PASS)

Error status (STS)

Memory address/step number (ADDRESS)
Write data (WD)

Read data (RD)

Error status name

©ooNOA~WNE

This program can store data on afloppy disk or send the error information to a printer.

3.9.1 Operations

1. After pressing 5 and pressing Enter in the main menu, the error information
logged in RAM or on the floppy disk is displayed as shown below.

XXXXX ERROR
CNT T- NAME PASS STS ADDR WED RD HSTS [ ERROR STATUS NAME]
001 PRT 03 0000 101 00000 00 OO Ti ne-out error
002 PRT 03 0001 101 00000 20 OO Ti ne-out error
003 PRT 03 0003 101 00000 00 OO Ti ne-out error
‘ Address
Error status
Pass count
Subtest number Read data
Test name Write data
Error count Error status name

[[ 1:Next,2:Prev,3:Exit,4:Cear,5 Print,6:FD Log Read, 7: Log Wite ]]

3-14



2. Theinformation displayed on the screen can be manipulated with the following
key operations:

The 1 key scrolls the display to the next page.

The 2 key scrolls the display to the previous page.

The 3 key returns the display to the main menu.

The 4 key erases al error information logged in RAM.
The 5 key outputs error information logged to a printer.
The 6 key reads information logged from a floppy disk.
The 7 key writes information logged to a floppy disk.

3. Inthecaseof "error retry OK",acapita "R" will be placed at the begin-
ning of the error status. Thisis not added to the error count.

3-15



3.10 Wraparound Connector Wiring Diagram

1. Printer wraparound connector (34M741986G01)

(Pin No.)  Signal Name Signal Name (Pin No.)
(9) +PD7 —ERROR (15)
(8) +PD6 —AUTFD (14)
7) +PD5 +SELECT (13)
(6) +PD4 —PINIT (16)
(5) +PD3 :i'(l;iOBE ( 1%;
(4) +PD2 +PE (12)
(3) +PD1 —SLIN (17)
2) +PDO +BUSY (11)

Figure 3-1 Printer Wraparound Connector

2. RS-232-C wraparound connector (34M741621G01)

(Pin No.) Signal Name Signal Name (Pin No.)
(3) TRANSMIT DATA RECEIVE DATA (2
(7) REQUEST TO SEND CLEAR TO SEND (8)
CARRIER DETECT (1)
4) DATA TERMINAL READY DATA SET READY  (6)
RING INDICATE 9)

Figure 3-2 RS-232-C Wraparound Connector

3-16



Chapter 3

Tests and Diagnostics







Contents

31 @A . 31
32 A O .. 32
33 R TEs . .. 36
331 NS . ot 36
332 PEAiOS .. 37
34 Sid Ryt Test ... 38
B41 Ot S . ot 38
42 QEaions ... 38
35 Bpansi OnTest . . .. .. 39
Bh1 Ot S . .t 39
02 QEaios ... 39
36 HDTESt ... 3N
BBL NN S . ..t 3N
B2 PEaios ... 3N
37 Keyboard Test . .. .. .. 312
I A € o = o 312
38 Bror MSSages . . . .. ..o 313
39 LogUilities . ..o e 314
391 PEaioS .. 314
310 Waparound Gnnector WringDagram ... ............. ..., 316
Figures
Fogre31 Rinter Waparound @nnector .. .......... . ... 316
Agre32 R5232-CWaparound Gnnector . ............ i, 316
Tables
Tae31 Qbtest NANBS . . . . .. . 33
Tale32 BpansiONTestS . . ... .o 39
Tl e33 Defective@ents . ... ..o 310
Tl e34 Bro Saus@delist ......... .. . 313

3-iii






4.1 General

This section explains how to disassemble the Desk Station IV and replace Field Replaceable
Units (FRUSs). It may not be necessary to remove al the FRUs in order to replace one. The
chart below is a guide to which FRUs need to be removed in order to remove others. Always
start by removing the top cover unit, then follow the chart to determine which FRU you must
remove next in order to repair the one you think is causing the Desk Station IV to operate

improperly.

[0 Top Cover Unit

Interface Cable Unit ¢ Interface Board
|
Power Supply Unit ¢ Back Panel Board
LED Board
Fan

Before You Begin

Look over the procedures in this section before you begin disassembling the Desk Station
IV. Familiarize yoursdlf with the disassembly and reassembly steps. Begin each procedure by
removing the AC cord.

1.
2.
3.

Do not disassemble the Desk Station 1V unlessit is operating abnormally.
Use only the correct and approved tools.

Make sure the working environment is free from the following elements
whether you are using or storing the Desk Station IV

[0 Dust and contaminates
[0 Static electricity
[0 Extreme heat, cold and humidity

Make sure the FRU you are replacing is causing the abnormal operation by
performing the necessary diagnostics tests described in this manual.

Do not perform any operations that are not necessary and use only the de-
scribed procedures for disassembling and installing FRUs in the Desk Station
V.

After removing parts from the Desk Station 1V, store them in a safe place so
they will not be damaged and do not interfere with your work.

4-1



7. You will remove and replace many screws when you disassemble the Desk
Station V. When you remove screws, make sure they are stored in a safe
place and identified with the correct parts.

8. When reassembling the Desk Station IV make sure you use the correct screws
to secure the various pieces in place. Screw sizes are listed in the correspond-
ing figures

9. After replacing an FRU, perform the appropriate FRU test to ensure the Desk
Station 1V (D$4) is functioning properly.

VWARN NG TheDesk S ati onl VVcont ai ns nany shar p edges and cor ner s, sobe car ef ul
not toinueyoursdf.

Assembly Procedures

Upon repairing the Desk Station 1V, reassemble the unit and remember the following genera
points:

[0 Takeyour time, making sure you follow the instructions closely. Most prob-
lems arise when you are hurried.

[0 Makesureall cables and connectors are securely fastened.

[0 Before securing the FRU or other parts, make sure that no cables will be
pinched by screws or the FRU.

[0 Check that al latches are closed securely.

[0 Usingthe correct screws, secure all FRUs.

CAUTTI AN Wsi ngt hewr ong scr ewcan danaget he screwt hr eads or t he scr ewhead,
or prevent proper seati ngof anFRU

After installation, confirm that the FRU and the Desk Station 1V are functioning properly.

4-2



Tools and Equipment

The use of ElectroStatic Discharge (ESD) equipment is very important for your safety and
the safety of those around you. Proper use of these devices will increase the success rate of
your repairs and lower the cost for damaged or destroyed parts. The following equipment is
necessary to disassemble and reassemble the Desk Station 1V:

One M3 Phillips-head screwdriver to remove and replace screws.
Tweezers, to lift out screws that you cannot grasp with your fingers.
ESD mats for the floor and the table you are working on.

An ESD wrist strap or heel grounder.

Anti-static carpeting or flooring.

O O O o o 0O

Air ionizersin highly static-sensitive areas.

4-3



4.2 Top Cover Unit and Back Cover

Removing the Top Cover and Back Cover

To remove the top cover and back cover, follow the steps below and refer to Figures 4-1
through 4-4.

1. Turn off the power to the Desk Station 1V. Disconnect the computer, power
cord, and all external cables connected to the Desk Station V.

2. Remove the two M 3x6 silver screws on the side cover (Figure 4-1).

3. Slide the side cover to the back of the unit until it stops (about 1 cm) and
place the side cover aside (Figure 4-1).

M3x6 silver screws )
Side cover

Figure 4-1 Removing the Sde Cover

4. Removethe two M 3x4 silver screws from the side of the Desk Station chassis
(Figure 4-2).

M3x4 silver screws

Figure 4-2 Removing Two Screws

4-4



5. Remove the two M 3x6 silver screws to remove the top cover unit (Figure 4-
3).

6. Slidethetop cover unit forward about 3 cm (or 1 inch) so that the latches on
the side of the chassis and cover are open. Lift the top cover unit off the

chassis (Figure 4-3).

Top cover unit

Figure 4-3 Removing the Top Cover Unit

7. Removethe three M 3x6 silver screws to remove the back cover (Figure 4-4).

Back cover

i
M3x6 silver screws

Figure 4-4 Removing the Back Cover

4-5



Installing the Top Cover Unit and Back Cover

To install the top cover unit, follow the steps below and refer to Figures 4-1 through 4-5.
1. Securethe back cover with three M 3x6 silver screws (Figure 4-4).

2. Set thetop cover unit on the chassis, and dlide it into place so the latches
fasten securely (Figure 4-3).

CAUTI ON Vit chfor cabl est hat nay cat chont hetopcover unit. Usecarewhen
slid ngthecover i ntopl ace.

3. Securethetop cover unit with two M 3x6 silver screws (Figure 4-3).

4. Securethetwo M3x4 silver screws on the side of the Desk Station 1V chassis
(Figure 4-2).

5. Alignthe six latches on the side cover with six notches on the chassis (Figure
4-5).

6. Slidethe side cover to the front and secure it in place with two M 3x6 silver
screws as shown in Figure 4-5.

Side cover
M3x6 silver screws<

Notch

Latch

Figure 4-5 Attaching the Sde Cover

4-6



4.3 Interface Cable Unit

Removing the Interface Cable Unit

To remove the interface cable unit, follow the steps below and refer to Figures 4-6 and 4-7.

1. Turn off the power to the Desk Station. Disconnect the computer, power
cord, and all external cables connected to the unit.

2. Remove the top cover unit as described in Section 4.2.

3. Remove the four M 3x6 screws to remove the interface cable cover bracket.
Note the brass spacers on two of the screws (Figure 4-6).

M3x6 screws Interface cable

cover bracket

M3x6 screws

Figure 4-6 Removing the Interface Cable Cover Bracket

4. Carefully disconnect the interface cable from PJ1 on the interface board
(PCB FDPSY2) (Figure 4-7).

Interface board

interface cable

Figure 4-7 Removing the Interface Cable

4-7



Installing the Interface Cable Unit

To install the interface cable unit, follow the steps below and refer to Figures 4-6 and 4-7.
1. Besuretoinsert the cable through the hole in the inter face cable cover
bracket and put it between the interface board and the inter face board
bracket.
2. Connect the interface cable to PJ1 interface board (Figure 4-7).

3. Placetheinterface cable cover bracket, then secure the inter face cable unit
with four M 3x6 screws (Figure 4-6).

4. Install thetop cover unit asdescribed in Section 4.2.

4-8



4.4 Interface Board

Removing the Interface Board

To remove the interface board, follow the steps below and refer to Figure 4-8.

1. Turn off the power to the unit. Disconnect the computer, power cord, and all
external cables connected to the Desk Station.

2. Remove the top cover unit, back cover, and interface cable unit as described
in Sections 4.2 and 4.3.

3. Disconnect the two power supply cables from PJ5 and PJ7 on the interface
board (PCB FDPSY 2) (Figure 4-8).

4. Remove thethree M3x4 silver screws from the back of the Desk Station 1V,
and the interface board from back panel board (Figure 4-8).

5. Lift straight up (Figure 4-8).

interface board

M3x4 silver screws

Figure 4-8 Removing the Interface Board

Installing the Interface Board

To install the interface board, follow the steps below and refer to Figure 4-8.

1. Placetheinterface board on theinterface board bracket, then connect the
interface board to the back panel board (Figure 4-8).

2. Securetheinterface board with three M 3x4 silver screws (Figure 4-8).

3. Connect the two power supply cables to the PJ5 and PJ7 on the interface
board (Figure 4-8).

4. Install the interface cable unit, back cover, and top cover unit as described in
Sections 4.3 and 4.2.

4-9



4.5 Back Panel Board

Removing the Back Panel Board

To remove the back panel board, follow the steps below and refer to Figures 4-9 and 4-10.

1. Turn off the power to the Desk Station 1V. Disconnect the computer, power
cord, and all external cables connected to the unit.

2. Remove the top cover unit, back cover, interface cable unit, and interface
board as described in Sections 4.2, 4.3, and 4.4.

3. Removethefour M3x4 silver screwsto remove the interface board bracket
(Figure 4-9).

M3x4 silver screws

Interface

M3x4 silver screws board bracket

Figure 4-9 Removing the Interface Board Bracket

4-10



4. Disconnect the power supply cables from PJ4 and PJ5, and the fan cable
from PJ6 on the back panel board (PCB FDPBP2), and L ED cable from PJ8
(Figure 4-10).

5. Remove thethree M 3x4 silver screws to remove the back panel board
(Figure 4-10).

Power supply cables

PJ6 PJS
Fan cable
[ D] “pys
| \>‘ )
) ¥ \
!‘Lé LED cable
RN g N
Q"l‘ M3x4 silver
Back panel board screws

Figure 4-10 Removing the Back Panel Board

Installing the Back Panel Board

To install the back panel board, follow the steps below and refer to Figures 4-9 and 4-10.

1. Pacethe back panel board on the bottom cover. Be sure the back panel
board fits into the dlits on the bottom cover.

2. Securethe back panel board with three M 3x4 silver screwsto the
backpanel

3. Connect the two power supply cablesto PJ4 and PJ5, the fan cable to PJ6
on the back panel board, and the LED cable to PJS8.

4. Settheinterface board bracket, then secureit with four M3x4 silver
SCr ews.

5. Install the interface board, interface cable unit, back cover, and top cover unit
as described in Sections 4.4, 4.3, and 4.2.

4-11



4.6 Power Supply Unit
Removing the Power Supply Unit

To remove the power supply unit, follow the steps below and refer to Figures 4-11 and 4-12.

1. Turn off the power to the unit. Disconnect the computer, power cord, and all
external cables connected to the Desk Station 1V.

2. Remove the top cover unit and back cover as described in Section 4.2.

3. Disconnect the power supply cables from PJ5 and PJ7 on the interface
board (PCB FDPSY 2).

4. Remove thetwo M3x4 silver screws from the back of the unit (Figure 4-11).

Power supply cables

PJ7

—PJ5

M3x4 silver
screws

Figure4-11 Removing the Cables from the Interface Board

4-12



5. Disconnect the power supply cable from PJ4 and PJ5 on the back panel
board (PCB FDPBP2) (Figure 4-12).

6. Remove the two M 3x4 silver screws from the front of the power supply unit
(Figure 4-12).

7. Carefully lift out the power supply unit.

Power supply cables

Power supply
unit

PJ4

PJ5

Back pane

board
M3x4 silver
screws

Figure 4-12 Removing the Cables from the Back Panel Board

Installing the Power Supply Unit

To install the power supply unit, follow the steps below and refer to Figures 4-11 and 4-12.
1. Placethe power supply unit on the bottom cover of the D34 (Figure 4-12).

2. Securethetwo M 3x4 silver screws on the front of the power supply unit
(Figure 4-12).

3. Securethetwo M3x4 silver screws on the back of the DS4 (Figure 4-11).

4. Connect the four power supply cables on the back panel board (PJ4, PJ5)
and the interface board (PJ5, PJ7) (Figures 4-12, 4-11).

5. Install the back cover and top cover unit as described in Section 4.2.

4-13



4.7 Fan

Removing the Fan

To remove the fan, follow the steps below and refer to Figure 4-13.

1. Turn off the power to the Desk Station. Disconnect the computer, power
cord, and all external cables connected to the unit.

2. Remove the top cover unit, back cover, interface cable unit, and interface
board as described in Sections 4.2, 4.3, and 4.4.

3. Disconnect the fan cable from PJ6 on the back panel board (Figure 4-13).

4. Remove thefour M 3x25 screws on the fan to remove the fan. Note that the
safety plate will al'so come loose (Figure 4-13).

Safety Plate

Back panel board

PJ6

M3x25 screws

Figure 4-13 Removing the Fan

Installing the Fan

To install the fan, follow the steps below and refer to Figure 4-13.

1. Securethe fan with four M 3x25 screws and connect the fan cable to PJ6 on
the back panel board (Figure 4-13).

2. Instal the interface board, interface cable unit, back cover, and top cover unit
as described in Sections 4.4, 4.3, and 4.2.

4-14



4.8 LED Board

Removing the LED Board

To remove the LED board, follow the steps below and refer to Figure 4-14.

1. Turn off the power to the unit. Disconnect the computer, power cord, and all
external cables connected to the unit.

2. Remove the top cover unit as described in Section 4.2.
3. Disconnect the LED cable from PJ8 back panel board (Figure 4-14).

4. Remove the M 3x4 silver screw to remove the LED board (Figure 4-14).

=\

Back panel board ————

- LED board
i
Ll

PJ8 i
(&
, \/
LED cable 0 B
19} ~ AN

|

000 0 \

O M3x4 silver screw

Figure 4-14 Removing the LED Board

Installing the LED Board

To install the LED board, follow the steps below and refer to Figure 4-14.
1. Securethe LED board with the M 3x4 screw (Figure 4-14).

2. Connect the LED cable to PJ8 on the back panel board. Ensurethe LED is
facing up as shown (Figure 4-14).

3. Install thetop cover unit as described in Section 4.2.

4-15



4-16



Chapter 4

Replacement Procedures




Contents

A1 nerd .. 41
42 TopQover Lhit andBackQover . . ... ... . 44
43 InterfaceGblelnit . ... ... . .. . 47
44 IntefaceBoard .. ... ... . e 49
45 BackPanel Board . ... .. ... .. .. 4-10
46 Pover SUpplyLhit . ..o 412
A7 RN . 414
48 LEDBoard. .. ... ... 415
Figures

Foguwe41l FRenovingtheSdeQover .......... .. . .. .. .. .. 44
Fogued2 RenDViNgTWOSCIewS . .. ..ottt et e 44
Hgured4-3 RenovingtheTopQover Lhit ........... ... ... ... .......... 45
Foguwe4-4 RenovingtheBackQover . ....... ... .. .. . ... .. .. ... . .... 45
Hgured-5 AtachingtheSdeQwver ....... ... ... .. . . . . . . . . ... 46
Hogured4-6 RenovingthelnterfaceGibleQver Backet ................... 47
Hogured47 FRenovingthelnterfaceGble. .. ...... ... ... ... .. .. ... ..... 47
Hgure4-8 FRenovingthelnterfaceBoard .. ........ ... ... ... ... ........ 49
Hgure49 FRenovingthelnterfaceBoardBracket ....................... 410
FHgure4-10 RenovingtheBackPanel Board . . ........... ... ... ........ 411
Foue4-11 RenovingtheGlblesfronthelnterfaceBoard . ................ 412
Foure4-12 RenovingtheCGabl esfromheBackPanel Board . ... ............ 4-13
Fowe4-13 RenovingtheFan .. ... .. .. .. . . 414
Houre4-14 RenovingthelEDBoard . ......... ... ... .. ... .. .. ..... 415

4-iii



Appendix A System Board Layout

E
Al System Board (Front) ®

H
(G) @
T (e T e §_£\m L
o+ + o+ [t
1
— = [(©)
FOPSY2 -
S 836072401018 [a] ""D C
e 5 W . T
@ .'“H P - SD 4
H + g -
» T
‘El T . . + Z I
(H) ) - % 1 C
¥ _ (A) - 1T
M 1- 1 + | -# [roswmBA] !} -
- _ .: :u a3
* "~ g @ - - ¢
I l" &

il
i
1
-
-
[_@i]
@

Figure A-1 System Board (Front)

Symbol Description
(A) EXP BUS CONT GA (Expansion bus controller gate array)
(B) X1 oscillator 14.31818 MHz
© PJ1 system connector
(D) PJ3 internal 5-1/4-inch FDD connector
(E) PJ5 power supply connector
(3] PJ7 power supply connector
(G) PJ8 PRT connector
(H) PJ9 FDD connector




Appendix B Pin Assignments

B.1 PJ1 Expansion Bus I/F Connector (150-Pin)
Table B-1 Expansion Bus I/F Connector Pin Assignments (150-pin) (1/2)

Pin Signal /0 Pin Signal /0
1 GND - 36 GND -
2 GND - 37 (PCCONN) I
3 CTS1 0] 38 PHSYNC I
4 RI1 0] 39 LGREN I
5 RD1 0] 40 BLUE I
6 DSR1 0] 41 GND -
7 RTS1 I 42 RED I
8 DCD1 o] 43 MEWR 110
9 SD1 I 44 IRQ7 0]

10 DTR1 I 45 MERD I/0

11 SLIN (STEP) I/0 46 IRQ4 0]

12 GND - 47 DRQ5 0]

13 ERROR (SIDSL) I 48 DACK5 I

14 PINT (DIRC) I 49 DACK2 I

15 SELECT (WREN) I 50 DRQ6 0]

16 AUTFD (LOWD) I 51 GND -

17 BUSY (MOTON) I 52 IOCS16 0]

18 PE (WRDAT) I 53 IOCHCK 0]

19 N.C. - 54 MMCS16 0]

20 ACK (FDSEL) I 55 LA17 I/0

21 N.C. - 56 SBHE I/0

22 N.C. - 57 LA18 1’0

23 PDBO03 (RDDAT) 0] 58 MASTER 0]

24 PDB04 (DCHG) 0] 59 GND -

25 PDBO01 (TRO) 0] 60 REFMD I/0

26 PDBO02 (WPRT) 0] 61 LA20 I/0

27 STROB (FRDY) 0] 62 DACK®6 I

28 PDBO00 (INDX) 0] 63 LA21 I/0

29 MUSECK I/0 64 LA19 I/0

30 GND - 65 LA23 I/0

31 N.C. - 66 DRQ2 0]

32 MOUSED I/0 67 SD15 I/0

33 EKBDAT I/0 68 LA22 1’0

34 EKBCLK I/0 69 SD14 I/0

35 PVSYNC I 70 IRQ6 0]




B-2

Table B-1 Expansion Bus I/F Connector Pin Assignment (150-pin) (2/2)

Pin Signal /0 Pin Signal /0
71 GND - 111 SA18 1’0
72 SD13 110 112 SA19 I/0
73 SD12 110 113 SA16 110
74 IRQ12 0] 114 SA17 I/0
75 SD10 I/0 115 SA15 I/0
76 SD11 10 116 GND -
77 SD09 I/0 117 SA13 I/0
78 IRQ11 0] 118 SA14 1’0
79 IRQ14 0] 119 SA11 I/0
80 SD08 I/0 120 SA12 110
81 GND - 121 SA09 I/0
82 IRQ10 0] 122 SA10 I/0
83 DRQ1 o] 123 GND -
84 IOCRDY 0] 124 SA08 I/0
85 DACK3 I 125 SA06 I/0
86 AEN I 126 SA07 I/0
87 IRQ5 0] 127 SA04 1’0
88 DRQ3 0] 128 SA05 1’0
89 N.C. - 129 SA02 I/0
90 IOCLK I 130 SA03 1’0
91 IRQ9 0] 131 SA00 I/0
92 GND - 132 SA01 I/0
93 RESET I 133 N.C. -
94 DACK1 I 134 GND -
95 TC I 135 N.C. -
96 BALE I 136 MIRQ 0]
97 IOWR I/0 137 CPCNF 0]
98 IORD I/0 138 N.C. -
99 SMER I 139 RVCC I
100 GND - 140 RGND 0]
101 SDO07 I/0 141 ADPCNT I
102 SMEW I 142 GND -
103 SDO05 I/0 143 CURNT 0]
104 SD06 110 144 CURNT O
105 GND - 145 CURNT 0]
106 SD04 I/0 146 CURNT 0]
107 SD02 I/0 147 DCIN o]
108 SDO03 I/0 148 DCIN 0]
109 SDO00 I/0 149 DCIN 0]
110 SDO01 I/0 150 DCIN 0]




B.2

PJ1 IBM Slot 1 Connector (104-Pin)

Table B-2 IBM Sot 1 Connector Pin Assignment (104-pin)

Pin Signal 110 Pin Signal 110
1 ESD151 110 53 ESA051 110
2 GND - 54 EDACK20 (@)
3 ESD141 110 55 ESA061 /10
4 IMSTRO | 56 EIRQ31 |
5 ESD131 110 57 ESA071 /10
6 VCC - 58 EIRQ41 |
7 ESD121 110 59 ESA081 110
8 N.C. - 60 EIRQ51 |
9 ESD111 110 61 ESA091 110

10 N.C. - 62 EIRQ61 |

11 ESD101 110 63 ESA101 /10

12 EDRQ61 | 64 EIRQ71 |

13 ESD091 110 65 ESA111 /10

14 EDACK®60 (@) 66 ECLK1 (@)

15 ESDO081 110 67 ESA121 /10

16 EDRQ51 | 68 EREFMDO /10

17 EMEMWRO 110 69 ESA131 110

18 EDACKS50 (@) 70 EDRQ11 |

19 EMEMRDO 110 71 ESA141 110

20 N.C. - 72 EDACK10 (@)

21 ELA171 110 73 ESA151 110

22 N.C. - 74 EDRQ31 |

23 FLA181 110 75 ESA161 110

24 EIRQ141 | 76 EDACK30 o

25 ELA191 110 77 ESA171 110

26 N.C. - 78 EIORDO 110

27 ELA201 110 79 ESA181 110

28 EIRQ121 | 80 EIOWRO 110

29 ELA211 110 81 ESA191 110

30 EIRQ111 | 82 ESMERO o

31 ELA221 110 83 EAEN1 o

32 EIRQ101 | 84 ESMEWO o

33 ELA231 110 85 EIORDY1 |

34 EICSI60 | 86 GND -

35 ESBHEO 110 87 ESDO001 110

36 EMCS160 | 88 P12V -

37 N.C. - 89 ESDO11 110

38 N.C. - 90 N.C. -

39 N.C. - 91 ESD021 110

40 N.C. - 92 M12Vv -

41 N.C. - 93 ESDO031 110

42 N.C. - 94 EDRQ21 |

43 ESA001 110 95 ESDO041 110

44 GND - 96 M5V -

45 ESA011 110 97 ESDO051 110

46 EOSC1 (@] 98 EIRQ91 |

47 ESA021 110 99 ESDO061 110

48 GND - 100 GND -

49 ESA031 110 101 ESDO071 110

50 EBALE1 (@) 102 ERESET1 o

51 ESA041 110 103 EIOCHKO |

52 ETCI (@) 104 GND -

B-3



B.3 PJ2 IBM Slot 2 Connector (104-Pin)

Table B-3 IBM Sot 2 Connector Pin Assignment (104-pin)

Pin Signal /0 Pin Signal /0
1 ESD151 I/O 53 ESA051 I/O
2 GND - 54 EDACK20 O
3 ESD141 I/O 55 ESA061 I/O
4 IMSTRO I 56 EIRQ31 I
5 ESD131 I/O 57 ESA071 I/O
6 VCC - 58 EIRQ41 I
7 ESDQ1 I/O 59 ESA081 I/O
8 N.C. - 60 EIRQ51 I
9 ESD111 I/O 61 ESA091 I/O

10 N.C. - 62 EIRQ61 I

11 ESD101 I/O 63 ESA101 I/0

12 EDRQ61 I 64 EIRQ71 I

13 ESD091 I/O 65 ESA111 I/O

14 EDACKG60 o 66 ECLK1 O

15 ESD081 I/O 67 ESA121 I/O

16 EDRQ51 I 68 EREFMDO I/0

17 EMEMWRO I/O 69 ESA131 I/0

18 EDACKS50 o 70 EDRQ11 I

19 EMEMRDO I/O 71 ESA141 I/O

20 N.C. - 72 EDACK10 O

21 ELA171 I/O 73 ESA151 I/0

22 N.C. - 74 EDRQ31 I

23 ELA181 I/O 75 ESA161 I/0

24 EIRQ141 I 76 EDACK30 O

25 ELA191 I/O 77 ESA171 I/0

26 N.C. - 78 EIORDO I/0

27 ELA201 I/O 79 ESA181 I/O

28 EIRQ121 I 80 EIOWRO I/0

29 ELA211 I/O 81 ESA191 I/0

30 EIRQ111 I 82 ESMERO O

31 ELA221 I/O 83 EAEN1 O

32 EIRQ101 I 84 ESMEWO O

33 ELA231 I/0 85 EIORDY1 I

34 EICSI60 I 86 GND -

35 ESBHEO I/0 87 ESDO001 I/0

36 EMCS160 I 88 P12v -

37 N.C. - 89 ESDO011 I/O

38 N.C. - 920 N.C. -

39 N.C. - 91 ESD021 I/O

40 N.C. - 92 E12V -

41 N.C. - 93 ESDO031 I/0

42 N.C. - 94 EDRQ21 I

43 ESA001 I/0 95 ESD041 I/O

44 GND - 96 M5V -

45 ESA011 I/O 97 ESDO051 I/0

46 EOSC1 O 98 EIRQ91 I

47 ESA021 I/O 99 ESD061 I/0

48 GND - 100 GND -

49 ESA031 I/O 101 ESDO071 I/0

50 EBALE1 O 102 ERESET1 O

51 ESA041 I/O 103 EIOCHKO I

52 ETC1 O 104 GND -

B-4



B.4

PJ3 Expansion FDD Connector (34-Pin)

Table B-4 Expansion FDD Connector Pin Assignment (34-pin)

Pin Signal /0 Pin Signal /0
1 GND — 18 DIRO 0]
2 DCHGO I 19 GND -
3 GND - 20 STEPO 0]
4 N.C. - 21 GND -
5 GND - 22 WDATAO 0]
6 N.C. - 23 GND -
7 GND - 24 WRENO 0]
8 INDXO0 I 25 GND -
9 GND - 26 TROO I

10 FDSELO 0] 27 GND -

11 GND - 28 WPRTO I

12 N.C. - 29 GND -

13 GND - 30 RDDATO I

14 N.C. 31 GND -

15 GND - 32 SIDSLO 0]

16 MOTONO 0] 33 GND -

17 GND - 34 FRDYO I

B-5



B.5

B-6

PJ4 Back Panel System Connector (100-Pin)

Table B-5 Back Panel System Connector Pin Assignment (100-pin)

Pin Signal /0 Pin Signal /0
1 ESD151 I/O 51 ESA041 I/O
2 IMSTRO I 52 EIRQ51 I
3 ESDI31 I/O 53 GND -
4 ESD141 I/O 54 ESA081 I/0
5 GND - 55 ETC1 o
6 ESD121 I/O 56 EIRQ61 I
7 EDRQ61 I 57 GND -
8 ESD111 I/O 58 ESA091 I/O
9 GND - 59 ESA191 I/O

10 ESD101 I/O 60 EIRQ71 I

11 ESD091 I/O 61 GND -

12 EDACKG60 o 62 ESA101 I/O

13 GND - 63 ESMERO O

14 EDRQ51 I 64 ECLK1 O

15 EDACKS50 o 65 EAEN1 O

16 ESD081 I/O 66 ESA111 I/0

17 EMEMRDO I/O 67 ESMEWO O

18 EMEMWRO I/O 68 EREFMDO I/0

19 ELA181 I/O 69 GND -

20 ELA171 I/O 70 ESA121 I/0

21 GND - 71 EIORDY1 I

22 EIRQ141 I 72 EDRQ11 I

23 ELA231 I/O 73 VCC -

24 ELAI91 I/O 74 ESA131 I/0

25 GND - 75 ESDO001 I/0

26 EIRQ121 I 76 EDACK10 O

27 ESBHEO I/O 77 GND -

28 ELA201 I/O 78 ESA141 I/0

29 GND - 79 ESDO011 I/0

30 EIRQ111 I 80 EDRQ31 I

31 EMCS160 I 81 ESD021 I/0

32 ELA211 I/0 82 ESA151 I/O

33 ESA001 I/0 83 ESDO031 I/0

34 EIRQ101 I 84 EDACK30 O

35 ESA011 I/0 85 GND -

36 ELA221 I/O 86 ESA161 I/0

37 GND - 87 LORON1 O

38 EICS160 I 88 EIORDO I/O

39 EOSC1 O 89 LGRON1 O

40 EDACK20 O 20 ESA171 I/0

41 GND - 91 ESD041 I/0

42 ESA051 I/O 92 EIOWRO I/0

43 ESA021 I/O 93 GND -

44 EIRQ31 I 94 ESA181 I/0

45 GND - 95 EIRQ91 I

46 ESA061 I/O 96 ERESET1 O

47 ESA031 I/O 97 ESD061 I/0

48 EIRQ41 I 98 EIOCHKO I

49 EBALE1 O 99 ESDO051 I/O

50 ESA071 I/O 100 ESDO071 I/0




B.6 PJ4 System Connector (100-Pin)

Table B-6 System Connector Pin Assignment (100-pin)

Pin Signal /0 Pin Signal /0
1 ESD151 I/O 51 ESA041 I/O
2 IMSTRO O 52 EIRQ51 O
3 ESD131 I/O 53 GND -
4 ESD141 I/O 54 ESA081 I/O
5 GND - 55 ETC1 I
6 ESD121 I/O 56 EIRQ61 O
7 EDRQ61 O 57 GND -
8 ESD111 I/O 58 ESA091 I/O
9 GND - 59 ESA191 I/0

10 ESD101 I/O 60 EIRQ71 O

11 ESD091 I/O 61 GND -

12 EDACKG60 I 62 ESA101 I/0

13 GND - 63 ESMERO I

14 EDRQ51 o 64 ECLK1 I

15 EDACKS50 I 65 EAEN1 I

16 ESD081 I/O 66 ESA111 I/O

17 EMEMRDO I/O 67 ESMEWO I

18 EMEMWRO I/O 68 EREFMDO I/0

19 ELA181 I/O 69 GND -

20 ELA171 I/O 70 ESA121 I/O

21 GND - 71 EIORDY1 O

22 EIRQ141 O 72 EDRQ11 o

23 ELA231 I/O 73 VCC -

24 ELA191 I/0 74 ESA131 I/0

25 GND - 75 ESDO001 I/0

26 EIRQ121 O 76 EDACK10 I

27 ESBHEO I/O 77 GND -

28 ELA201 I/0 78 ESA141 I/O

29 GND - 79 ESDO011 I/O

30 EIRQ111 O 80 EDRQ31 O

31 EMCS160 O 81 ESD021 I/0

32 ELA211 I/O 82 ESA151 I/0

33 ESA001 I/O 83 ESDO031 I/O

34 EIRQ101 O 84 EDACK30 I

35 ESA011 I/O 85 GND -

36 ELA221 I/O 86 ESA161 I/O

37 GND - 87 LORON1 O

38 EICS160 O 88 EIORDO I/0

39 EOCS1 I 89 LGRON1 O

40 EDACK20 I 20 ESA171 I/0

41 GND - 91 ESD041 I/0

42 ESA051 I/0 92 EIOWRO I/0

43 ESA021 I/O 93 GND -

44 EIRQ31 o 94 ESA181 I/0

45 GND - 95 EIRQ91 O

46 ESA061 I/O 96 ERESET1 I

47 ESA031 I/O 97 ESD061 I/0

48 EIRQ41 O 98 EIOCHKO o

49 EBALE1 I 99 ESDO051 I/0

50 ESA071 I/0 100 ESDO071 I/0

B-7



B.7 PJ5 PS Connector (4-Pin)

Table B-7 PS Connector Pin Assignment (4-pin)

Pin Signal /0 Pin Signal /0
1 DCIN | 3 CURNT |
2 GND - 4 GND -

B.8 PJ7 PS Connector (7-Pin)
Table B-8 PS Connector Pin Assignment (7-pin)

Pin Signal /0 Pin Signal /0
1 RVCC - 5 ADPCNT1 [
2 RGND — 6 GND -
3 GND — 7 PCCONNO |
4 CPCNF1 [

B.9 PJ8 PRT Connector (25-Pin)
Table B-9 PRT Connector Pin Assignment (25-pin)

Pin Signal /0 Pin Signal /0
1 STROBO ¢} 14 AUTFDO ¢}
2 PDO1 110 15 ERRORO |
3 PD11 1/0 16 PINTO ¢}
4 PD21 110 17 SLINO ¢}
5 PD31 110 18 GND -
6 PD41 I/0 19 GND -
7 PD51 I/0 20 GND -
8 PD61 I/0 21 GND -
9 PD71 110 22 GND -

10 ACKO | 23 GND -

11 BUSY1 | 24 GND -

12 PE1 | 25 GND -

13 SELECT1 |

B-8




B.10 PJ9 FDD Connector (25-Pin)

Table B-10 FDD Connector Pin Assignment (25-pin)

Pin Signal /0 Pin Signal /0
1 FRDYO I 14 LOWDO O
2 INDXO I 15 SIDSLO O
3 TROO I 16 DIRO O]
4 WPRTO I 17 STEPO O
5 RDDATO I 18 GND -
6 DCHGO I 19 GND -
7 GND - 20 GND -
8 GND - 21 GND -
9 GND - 22 GND -

10 FDSELO O 23 GND -

11 MOTONO O 24 GND -

12 WDATAO O 25 GND -

13 WRENO O

B-9



B.11 PJ4 PS Connector (4-Pin)

Table B-11 PS Connector Pin Assignment (4-pin)

Pin Signal /0 Pin Signal /0
1 M5V (-5V) - 3 M12V (-12V) -
2 GND - 4 GND -

B.12 PJ5PS Connector (6-Pin)

Table B-12 PS Connector Pin Assignment (6-pin)

Pin Signal /0 Pin Signal /0
1 VCC - 4 GND -
VCC - 5 Pi12v -

3 GND - 6 GND

B.13 PJ6 Fan Connector (2-Pin)

Table B-13 Fan Connector Pin Assignment (2-pin)

Pin Signal /0 Pin Signal /0

1 P12V (+12V) - 2 GND -

B.14 PJ7 Internal FDD Power Connector (4-Pin)

Table B-14 Internal FDD Power Connector Pin Assignment (4-pin)

Pin Signal /0 Pin Signal /0
1 P12V (+12V) - 3 GND -
2 GND - 4 VCC -

B.15 PJ101 Serial I/F Connector (9-Pin)

Table B-15 Serial I/F Connector Pin Assignment (9-pin)

Pin Signal /0 Pin Signal /0
01 DCD1;100 I 06 DSR1;100 I
02 RD1;000 I 07 RTS1;111 o]
03 SD1;011 0] 08 CTS1;100 I
04 DTR1;111 0] 09 RI1;100 I
05 GND -

B-10



B.16 PJ102 CRT I/F Connector (15-Pin)

Table B-16 CRT I/F Connector Pin Assignment (15-pin)

Pin Signal /0 Pin Signal /0
01 RED;101 0] 09 N/C -
02 LGREN;101 0] 10 GND -
03 BLUE;101 0] 11 N/C -
04 N/C - 12 N/C -
05 GND - 13 PHSYNC;100 0]
06 GND - 14 PVSYNC;100 0]
07 GND - 15 N/C -
08 GND -

B.17 PJ103 External Keyboard I/F Connector (6-Pin)

Table B-17 External Keyboard I/F Connector (6-Pin)

Pin Signal /0 Pin Signal /0
01 EKBDAT I/O 04 VCC -
02 N/C - 05 EKBCLK I/0
03 GND - 06 N/C -

B.18 PJ104 PS/2 Mouse Connector (6-Pin)

Table B-18 PS2 Mouse Connector Pin Assignment (6-pin)

Pin Signal /0 Pin Signal /0
01 MOUSDT;101 I/O 04 VCC -
02 N/C - 05 MOUSCK;101 I/0
03 GND - 06 N/C -

B-11



Appendices




Contents

Appendi X A SystemBoardLayout . . ... ... ... ... Al
Al SystemBoard(Font) ............ .. .. ... Al
Appendi XBR NASSIgNNBNLS . . . .. ... B1
B1 PJ1EpansionBusl/FQnnector (150-An) ............... B1
B2 PJlIBMHot 1Gnnector (104-An) . ......... ... .. ..... B3
B3 PI2IBVMH ot 2Qnnector (104-FAn) . ....... ... .. .. .. ... B4
B4 PI3ExpansionADnnector (34-An) .......... ... ..... B5
B5 PJ4BackPanel System@nnector (100-An) . .............. B6
B6 PJ4Sstemnnector (100-AnN) ........... .. ... .. . ..., B7
B7 PRISPS@nnector (4-HAnN) ... .. B8
B8 PRI7PS@nnector (7-AN) . ... ... .. B8
B9 PRIBPRTGnnector (25-AN) . ......... .. .. ... B8
B10 PIOHDnNnector (25-An) .. ... .. .. .. B9
B11l PMPS@nnector (4-HnN) . ... B-10
B12 RISPS@nnector (6-HN) ... ... B-10
B13 RI6FanGnnector (2-AnN) ........... ... .. .. B-10
B14 PRJ7Internal ACDPower Gnnector (4-AnN) ............... B-10
B15 RI101Serid I/FQector (HN) ... ..o B 10
B16 PJ1I02CRTI/FQnnector (15-An) .................... B 11
B 17 PJ103External Keyboardl/FQnnector (6-HN) ............ B 11
B18 PJ104 PS 2Muse Gnnector (6-AN) . ................. B 11
Appendi xC51/4" DeviceGbling. . .. ... Gl
Cl PRoutingthe5V4"DeviceGble ............ ... ........ Cl

App-iii



Figures

FHagueAl
FgureG1l

Tables

TableB 1
TableB 1
Tabl eB 2
Tabl eB-3
Tabl eB 4
Tabl eB-5
Tabl eB-6
Tabl eB 7
Tabl eB-8
Tabl eB-9
Tabl eB 10
Tabl eB- 11
Tabl eB- 12
Tabl eB- 13
Tabl eB 14
Tabl eB 15
Tabl eB- 16
Tabl eB- 17
Tabl eB- 18

App-iv

SystenmBoard(Font) . ... ... Al
Routingthe51/4"DeviceGble . .. .......... ... ... ... ...... Gl
Expansi onBus |/ FGnnect or A nAssi gnnent (150-pin) (/2) ........ B1
Expansi onBus |/ FGnnect or H nAssi gnnent (150-pin) (2/2) . ....... B2
IBVH ot 1Gnnector A nAssignnent (104-pin) ................. B3
IBVH ot 2Gnnector A nAssignnent (104-pin) ................. B4
Expansi on FCD@nnector A nAssignnent (34-pin) .. ............. B5
Back Panel Syst emnnect or A nAssi gnnent (100-pin) ... ......... B6
Systemnnect or A nAssi gnnent (100-pin) . .......... ... ... ... B7
PSQnnector A nAssignnent (4-pin) . .......... ... B8
PSQnnector A nAssignnent (7-pin) . ...........uiiiene... B8
PRTGnnector A nAssignnent (25-pin) ......... ... .... B8
FDGnnector AnAssignnent (25-pin) . ..., B9
PSQnnector A nAssignnent (4-pin) . ...........u ... B-10
PSQnnector A nAssignnent (6-pin) . ...................... B-10
FanQnnector AnAssignnent (2-pin) . .......... ... B 10
| nternal ACDPower nnect or A nAssi gnnent (4-pin) .. ......... B-10
Serial |/FQnnector HnAssignnent (9-pin) ... ... B 10
RT1/FQnnector AnAssignnent (15-pin) . .................. B 11
External Keyboardl/FQnnector (6-HN) . ........... ... . ... .. B 11
PS 2 Muse Gnnect or A nAssi gnnent (6-pin) .. ............... B 11



Appendix C 5 1/4" Device Cabling

C.1 Routing the 5 1/4" Device Cable

Weni nstal | i nga51/ 4" devi cei nt heexpansi onbay, besur et hecabl edoes not
obstruct theai r fl owof thecod i ngfan. Fol | ont hest epsbel ont orout et hecabl e.

1 VHeninstal lingthedevice, routethecabl et hrought heexpansi onbay andout
t heback.

2  Ainsu ator hasbeenappl i edont het opof thedi skdrivefrane. Li ft upthe
i nsul at or and| ayt hecabl eont opof t hefrane. Fol dthecabl esothet it | aysfl at
agai nst thefraneasshowni nA gureG 1.

Figure C-1 Routing the 5 1/4" Device Cable

3 Laytheinsul ator ontopof t hecabl eandconnect thecabl etotheATsl ot .

NJE Besurethecableliesflat andthat it isunder theinsu ator.

C-1



	Chapter 1 Hardware Overview
	1.1 Desk Station IV Features
	1.2 System Unit Block Diagram
	1.3 Interface Board Block Diagram
	1.4 Power Supply
	1.5 Expansion Slots

	Chapter 2 Troubleshooting Procedures
	2.1 Desk Station IV Troubleshooting
	2.2 Flowchart
	2.3 LED Board Troubleshooting Procedures
	2.4 Power Supply Unit Troubleshooting Procedures
	2.5 DC Fan Troubleshooting Procedures
	2.6 Back Panel Board and Interface Board Troubleshooting Procedures
	2.7 Test Program Troubleshooting Procedures

	Chapter 3 Tests & Diagnostics
	3.1 General
	3.2 Operations
	3.3 Printer Test
	3.4 Serial Port Test
	3.5 Expansion Test
	3.6 FDD Test
	3.7 Keyboard Test
	3.8 Error Messages
	3.9 Log Utilities
	3.10 Wraparound Connector Wiring Diagram

	Chapter 4 Replacement Procedures
	4.1 General
	4.2 Top Cover Unit and Back Cover
	4.3 Interface Cable Unit
	4.4 Interface Board
	4.5 Back Panel Board
	4.6 Power Supply Unit
	4.7 Fan
	4.8 LED Board

	Appendices
	Appendix A System Board Layout
	Appendix B Pin Assignments
	Appendix C 5 1/4" Device Cabling


